Have . go at these: D |
Do the hest you can do. | right - =g
Use .a written method. havsepaly 22022,

769 - 324 = 445

/ b X & = 56
What is the total if youw add together
624 and 263 = 887

¢ What is 318 less than 684 = 366
/ ) L6 X 7 =322
3458 + 5376 = 8834

. 4724 - 3286 = 438
i What .is the product of 276 and 9 = 2484
52369 + 56234 = 108,603

Hove . go .at these: A. Dot
Do the hest you can do. ho o C
Use .o written method. & —23022,

What is 42| less than 758 = 337/
S X 3 =162
642 + 253 = 895

/qg 3547 - 439 = 3108
2/ 64 X 7 = LLS
What is the total of 9527 and 3296 = 12,823

What is the difference between 87 4]
&2 and 5863 = 2878
697 X 8 = 5576
q784 + 9 + 836 = 10,629




Have a go at these:

D&g 3
o the hest you .can . s
st.eamfitte:;gonwthﬂd.dﬂ e N _24022,

684 - 258 = 426
32 X 5 =160
654 + 273 = 927

o 6537 - 719 = 58I8

'/ What is 76 multiplied hy 8? = 608
7461 + 759 = 8220

8352 - 4796 = 3556
A 796 X 8 = 6368

What is the sum of 9876 .and 6789 = 16,665

Have . go at these:

Yej AL Can | aight - D 2 f
Lo, e ek so, cal <. howspaik 95 (9 9

694 - 478 = 216
53 X 4 = 2[2

What is 624 .and 351 altogether? = 975

o What is the difference hetween
7 ? 6572 and 2847 - 3725

L63 X 7 = 324]
L286 + 7429 = II,715

- 8060 - 6384 = 1676
K What is the product of 893 and 7 - 625]
36 + 4762 + 98 = 4896



Have YolWeVo) ot these: 'y D 5

Do the hest you can do. :
Use .a written .method. heo 5 26022,

674 - 256 = 418
/ 32 X L =128
Wha,ti/s.ﬂqz,to,tai,lg?,{éou,a,d,d
together 746 and 173 = 919
536 - 258 = 278
/‘/3 638 X & = 2552

< What is 34, 679 and 8 altogether 72|

7031 - 6582 = 449

K 386 X 7 = 2702
" What is 6928, 7 and 649 altagether - 7584







